Supplemental material for Visual Algebra (Math 4120),

HW 8

#1(a): Partitions of the semiabeilan group SAg by cosets of the sub-




#1(b): Cayley tables of the quotients of SAg by its order-4 subgroups
V = ({rts), H=(r’s), and K = (r?).
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#1(b): The Cayley table of the quotient of SAg by its order-2 subgroup
N = (rh).
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#1(0): Shoebox diagrams of the nontrivial proper subgroups of SAg/N, other
than (N) = {e}, (rN,sN) =2 SAg /N, and (rN) = C, (already done).

3N r3sN T s rTs T s s
r’N r2sN r2 8 | r?s rSs r2 % r2s S
rN rsN r ro rs s r o rs s

N sN 1 r s ris 1 r s ris
N r3sN T s rTs T s s
r’N r2sN r2 S | r?s s r2 % r2s S
rN rsN r ro rs s r o rs s

N sN 1 r s ris 1 r s ris
N r3sN T s rls T s s
r’N r2sN r2 8 | r?s s r2 % r2s S
rN rsN r ro rs s r o rs s

N sN 1 r s ris 1 r s ris
N r3sN T s s T s s
r’N r2sN r2 8 | r?s s r2 8 r2s S
rN rsN r r? rs s r o rs s

N sN 1 r s ris 1 r s ris
rN r3sN T | s s T s rTs
r’N r2sN r2 8 | r?s s r2 % r2s S
rN rsN r | rs s roor’ rs s

N sN 1 r s ris 1 r s ris




#1(f): Shoebox diagrams of subgroups of SAg/V, where V = (r?, s).

3V T s s T s s
2V 2 % 25 0 2 6 25 b
rV roor rs s roor o rs s
Vv 1 rt s ris 1 rt s ris
3V T s s T s s
2V 2 6 25 0 2 6 25 b
rvV r r° rs s r r° rs s

174 1 rt s ris 1 rt s ris
3V T s s T s s
2V 2 6 25 0 2 6 25 b
rvV r r° rs s r r° rs s

1% 1 s ris 1 s ris




#1(f):

Shoebox diagrams of subgroups of SAg/H, where H = (r?s).

r3H s T s s T s
r?H 2 ris 6 s 2 ris 6 s
rH rorms r rls rorms r rls
H 1 r2s rt s 1 s rt s
r3H s T s r orbs T s
r?H 2 ris 6 s 2 ris 6 s
rH ro s r rls rors r rls
H 1 s rt s 1 s rt s
r3H s T s s T s
rH 2 ris 6 s 2 ris 6 g
rH rorms r rls rorms r rls
H 1 r2s rt s 1 s rt 1S




#1(f): Shoebox diagrams of subgroups of SAg/K, where K = (r?).

rsK rs s s r's rs s rds r
sK s r?s ris 10 s r’s ris r
rK r 3 o r? r 3 o
K 1 r2 ot 6 1 r2
rsK rs s s r's rs s rds r
sK s r’s rts 1rfs s r’s ris r
rK r 3 o r? r 3 o
K 1 r2 ot 6 1 r2
rsK rs s s r's rs s rds r
sK s r’s rts 1rfs s r’s ris r
rK r 3 o r? r 3 o
K 1 r2 ot 6 1 r2 ot
rsK rs s s r's rs s rds r
sK s r’s rts 1rfs s r’s ris r
rkK r 3 o r? r 3 o
K 1 r2 ot 6 1 r2 ot
rsK rs s s r's rs s rds r
sK s r’s rts 1rfs s r?s ris r
rkK r 3 o r’ r 3 o
K 1 r2 ot 6 1 r2 ot




